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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HNEA MFEXN =2 NI 28R
= 5,550 *«3kw+ 1290 & %11 220
H2AEA MFAN+E NEAEEIIR
= 107. 73 +250kwh* 1200 2 %11 356
—Hi=BEE Stes 12,000
- 2UH=EEE S22
1,000,000 1290 & 12,000
—HAEIY 454Z23
30,0003+ 12042 360
—&D|etH 2R AL ESIHI(H2)
100,000 100
OAIEZHIRAII 19,772
—HE™I| RF 1,386&%2,000 £ 2,772
— o~ E X FHIF X
6,000,000& 6,000
— o0l =B 2 E HH|= AL
3,000,000& 3,000
~SINGHTHABIH ZHIRAIHI
3,000,000& 3,000
—LHHABIE YIS
2,000,000& 2,000
— L2 ~BEIY USRI
1,000,000 1,000
—ZHUEA MFX =2 ZHIRXH]
2,000,000& 2,000
401 AIZHIX R0 70,000 13,495 56,506
01 AlZ2H| 70,000 13,495 56,505
O&d2klotite d&E &X
70,000,000 70,000
susHI| 2el 78,497 76,954 1,543
sus2Y] 78,497 76,954 1,543
Fw 2| |2 78,497 76,954 1,543
201 fer23y| 78,497 75,504 2,993
02 S3=gHl 78,497 75,504 2,993
Os&k= € MA 27,285
—s5&J| JIe= 22,665
s JI28IIe3
6, 1602 * 15kw+ 10CH* 120H 2 %11 12,197
FaAsZI| MEHIIRS
132. 43 +250kwh* 10CH = 1290 2 %1 .1 4,370
& - gZsd) JlEedles
6, 1603 «Bkw+4CH*12JH 1.1 2,602
IIE - YBI| ABEIIRS
132. 43 +500kwh*4CH* 12JH 2 1.1 3,4%
—520| SURB(HIAE E8)
25,0003 x14CH* 1200 +1 .1 4,620
OAI2EbBI= X 51,212




S THLHE D
g susdI| 2l
=t sus2| (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-5 FAZc 16,100
| ZAtI 150,000 * 14CH 2,100
Fcle=4&bl 1,000, 0002 = 14CH 14,000
—52J| RAEH 2l
190,000 x14CH* 12 *1 .1 35,112
HY2LZHI(HLA D) 96,529 115,518 18,989
Jl22HI (Tt 9%,529 115,518 18,989
J|23HI (T 1) 96,529 115,518 18,989
201 fer= 3| 38,385 39,566 1,181
01 At 2t 37,935 39,116 21,181
Oget=EH| 12,965
—2AIZ AR S|
5,000 »22& * 122 x00% 1,188
—ma| YxtE
40,0002 = 1CH =122 %90% 432
—SAESX7Y 1,980
- M 20,0003 x22F x52F A +90% 1,980
—=SAD| EE 200, 000& »2CH <23 *90% 720
—SA &4 55,0003 2CH*32/*90% 297
—diOIMEEH E
191,400 6LH*32/*90% 3,101
—zozZey X
445, 0003 *2CH *32] 0% 2,403
WA Bl - CH
170,000 *1CH*22]*90% 306
—=HEE2X 2= 15,0002 * 122 *90f% 162
—N2F=EE 756
X 20,0003 x25* 122 x00% 432
INEION 15,0002 x25* 123 *90% 324
—=EII(A3) 2t ¥ RXI2el]
150, 0002 * 122 *90f% 1,620
O=gH| 22,810
—EMIIZ2YR S20AHI
8,000 x22& 122« 122 9% 22,810
O=&4 29| 200,000 * 122 *90% 2,160
02 S3=gHl 450 450 0
OAIE&HIKR X 450
—SAHI 200,000 *2CH 400
—mA 50,0002 «1CH 50
202 04| 51,744 69,552 A17,808
01 =LHA LI 51,744 69,552 17,808
OZU|=e e -0yl
20,0002 x22& * 14 L« 122 %70% 51,744
203 =8| 6,400 6,400 0
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